Tap & Die Set

| 12916MmQ1

= Material : SK5 alloy steel

= 1 PC.Tap wrench(M3-M12, 1/8"~1/2")
= 1 PC. Die stock 25mm(1")

= Tap : M3~M12
- Die : M3~M12
Contents &0-78 @/@1/20
13,05 Mdx0.7, < 25mm (1)
1293OMQ-A  msx0 8 Mox1 0. | 12939MQ-AQT
M8x1.25, MTOX1.5, | o M3~M12

1293MQ-A  MI2x175 12930MQ-A02  (1/8"~1/2")

§ 12939mM0Q1 | 129395Q1

= Material : SK5 alloy steel
= 1 PC.Tap wrench(M3-M12, 1/8"~1/2")
= 1 PC."T" Type tap wrench(M3-M6, 1/8"~1/4")
= 1 PC. Die stock 25mm(1")
= 1 PC. Screw driver
= 12939MQ1-
1 PC. Screw pitch gauge (0.5-28)
Tap : M3~M12 / Die: M3~M12
= 129395Q1-
1 PC. Screw pitch gauge(12-40)
Tap:1/8"~1/2"/Die:1/8"~1/2"

KT NO. Contents J;R% 1.4 @/@1 /10
12939MQ-A06 / M3x0.5, 12939MQ-AQ7 / M3x0.6,
12939MQ-A08 / M4x0.7, 12939MQ-AQ9 / M4x0.75,
12939MQ-A10 / M5x0.8, 12939MQ-AT1 / M5x0.9, .,
e 12939MQ-ATI2/ M6X0.75, 12939MQ-A13 / MOX1.0, ——  25mm (1)

12939MQ-A14 / M7x0.75, 12939MQ-A15 / M7x1.0, 12939MQ-AQ1
12939MQ-A 12930MQ-A16 / M8x1.0, 12939MQ-A17 / M8x]1.25,
12939MQ-A18 / M10x1.25, 12939MQ-A19 / M10x1.5,
12939MQ-A20 / M12x1.5, 12939MQ-A21 / M12x1.75,
12939MQ-A22 / 1/8NPT27 e — MM

12939MQ1 12939MQ-A23 / M3x0.5, 12939MQ-A24 / M3x0.6, 1290390MQ-A02 (1/8'~1/2")
12939MQ-A25 / M4x0.7, 12939MQ-A26 / M4x0.75,
12939MQ-A27 / M5x0.8, 12939MQ-A28 / M5x0.9,

1) 12939MQ-A29 / M6x0.75, 12939MQ-A30 / Méx1.0,
12939MQ-A31 / M7x0.75, 12939MQ-A32 / M7x1.0,
12939MQ-A  12939MQ-A33 / M8x1.0, 12939MQ-A34 / M8x1.25, ! M3~Mb
12939MQ-A35 / M10x1.25, 12939MQ-A36 / M10x1.5, 12030MQ-ACA (1/8'~1/4")
12939MQ-A37 / M12x1.5, 12939MQ-A38 / M12x1.75, -

12939MQ-A39 / 1/8NPT27

=
12930MQ-A03 0.5,0.6,0.7,0.75,0.8,0.9, 1.0, 1.25, 1.5, 1.75, 27, 28

) ———a
129395Q-A  4NS36, 6NC32, 8NC32, 10NC24, 10NF32, 12NC24, 12939MQ-A0S
1/4NC20, 1/4NF28, 5/16NC18, 5/16NF24, 3/8NC16,
e 3/8NF24,7/16NC14, 7/16NF20, 1/2NC13, 1/2NF20,
129395Q1 D 1/8NPT27

129395Q-A

—
129395Q-A03

12,13, 14,16, 18,20, 24,27, 28, 32, 36, 40

%]
-
9]
o)
(-
o
@)
I
%)
4
oc
o
=

< KINGTONY

S
(%Y%)



